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. 1) D; II)HO(s) jenaslB
.)D, I)C

Ca(OH)2+ 2 HCl —-CaCl, + 2 H,O

N(HCl)poe. = 2,510 mol

N(HCneizreag. = 2,5° 10 mol

N(HCl)reag. = 2,25 10 mol

n(Ca(OH)2)porr. = 1,13 103 mol = 1,13 mmol

. Mr(Na,SOy) = 142

m(NazS0,) = 0,68 g; n(NaxSO4) =4,8:102 mol
m(H.0)= 0,86 g; n((H-0)= 0,048 mol

n((Hz0): n(Na,SOj) = 0,048:0,0048= 10:1

Mr(HCIO4) = 100,5; p=1116,7 g/dm®=1,12 g/cm?

. Z(Al) = 13; Ar(Al)= 27

Z(0)=8; Ar(0)=16

N= 2,23-10% (elektrona /kg Al**)

10Na (elektr) /mol O*
m(0%)=5,924- 10* g

. N(PCls) = n(Clo)= m{(Clo) / M(CL) = 4,0 - 10 mol

[PCls]= [Cl2]= n(Cl)/V = 0,20 mol/m?.
Ke= [PCls] [Cl2] / [PCls]
[PCls] = [PClg] [Cl] / Ke = 1,0 mol/m?

[PCls]or.=[PCl3] = [Cl2]



[PCls]o= [PCls]+ [PCls]or= 1,2 mol/m?
n(PCls)=c - V =2 -102 mol
n= n(PCls) +n(PClz)+ n«(Cl2) = 2,8 - 102 mol

x(PCls) =0,71

8. A) Kc= [COJ?/[0]
B) d)

0. m(r-ra) = 22g
m(HCl) = 4,54 g
n(HCI) = 0,125 mol
n1 (HCI) = n(HCI)
ma(r-ra)= 202 g
w1(HCI) = 0,022 (2,2%)
V1= 200 cm?®
¢1=0,62 mol/dm?

10. b



